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T i i Section-l (Objective)
odel Question- Tqug—| (aefie)

in the following questions nos 1 to 35, there is only one correct
answer against each question, For each question mark the correct
option on the answer sheet,

Ix35=35
Fvffelda gs7 §e&ar 1+ & 35 0% P 44T 997 & [0 o &

Rweq wel 27 vd® gov § w8} g oov U7 ¥ RfEd a9/

1x35=35
1.  The number of Bravais lattices in a cubic crystal is
a. 3 b. 1 c. 4 d. 14
PR fFca § 439 el & wer 88 & —
& 3 g 1 T, 4 . 14

2.  The number of tetrahedral voids in a unit cell of face centred cubic
arrangement of identical atoms is

a. 8 b 4 G5 d. 12

G WRATY Aol T BelS B Iga TR 3518 O § aguherd i) &1
e 7 —

®. 8 AV T. 8 g 12

3.  Which of the following particies can pass through semipermeable

membrane ?

a. Solvent particles b. Solute particles
c. Complex ion d. Simple ions
frr=fafaa A a9 od o el & R o & 2

&. faeras & a1 . fJeia & ar]

T, Wfce A €, WA A

4.  What is the molality of a sugar solution in which 34.2g of sugar is

present in 234.2¢g of sociution.
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Which of the following gases will be deposited at anode on
electrolysis of dilute H,SO, using Pt-electrode ?

a.H3 b. Q, ¢. 80, d. H,

QAR FATES BT SRS S T H2504ma@wmﬁmm
o B i g o § ‘

. H,S . 0, T. 80, ", H,

The electromotive force of the cell Zn | AnSO, Il CuSQ, ! Cuis
1.10 voit. The cathode is

a.Zn b. Cu c. ZnSO, d. CuSO,

Jet Zn 1 AnSO, It CuSO, | Cu &t fage are® set .10 dree B BEE
daie & —

®. Zn g, Cu . ZnS0O, . CuSO,

The order of the reaction H2(g) + CL(g) ——— 2Hcl (g) over water is
a3 b. 2 c. 1 d O

o A H,(g) + CL,(0) o o s A FIR R -

3 g 2 : .1 g 0

The inversion of cane sugar 10 produce glucose and fructose is

represented by the reaction.

CHO t H,0 —H 5 CHO,* CH,.0;
Sugar Glucose Fructose
The reaction is
a. Second order b. Unimolecular
¢. Pseudo unimolecular d. Bimolecular

ﬁﬁqﬁ?ﬂmﬁmﬁﬁqﬁmﬂaﬂﬁaﬁaﬁ?ﬁmaﬁﬁﬂmﬁ
zeitar o & - '
C1szzo11+HO H CEH!20E+CH20'E
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T, BEA TP D u. fgars

Milk is

a. Fat dispersed in water b. Water dispersed in fat
c. Fat dispersed in oil d. Water dispersed in ail
T -

. T & uReiia a9 . aar 3 uREfta wd

. e ¥ uReafug aan ", da ¥ gRafia 59

10. The extent of absorption of a gas on a solid surface depends on
a. The temperature of the gas b. The pressure of the gas

¢. The nature of the gas d. All of these
et & SN g W FfeiEe B A R e |
% @ aq ® ) W TP gE W
7. 4 & vg ® u. SwEd A W W
11.  Which of the following metals is found in free state in nature ?
a. Sodium b. Iron ¢. ZingG d. Ptatinum
R & - urg aahy ¥ ga arwen § TR o 9
®. WfsgH o e T. fa® o feH

12.  Which of the following metals is obtained by reacting its ore with
dilute sodium cyanide sotution ?
a.Cu b. Zn ¢. Ag d. Pt
W%ﬁﬁﬁﬁ?—ﬁﬁ@ﬁ%maﬁaﬁmmmﬁﬁﬁ
e @ PSR W B A E 7
a. Cu b. Zn c. Ag d Pt

13, Which of the following methads is applied for the refining of
Germanium which is used as semiconductos ?
a. Zone refining b. Cupellation
¢. Vapour-phase process d. Calcination
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14,

15.

16.

17.

18.

SGTTD ® WY 7 ST & [y SR &1 e fee ffy g e
ST 8 P

. W& YA . FAeT

T, T--arEver fafr v, e

Bone ash is mainly

a. Calcum Phosphide b. Calcium Phosphate
c. Charcoal d. Phosphorus
Ry = § -

. IfCUUH BIOpES W, P HRGT

T. BT o, BB

-

Which of the following mixture of gases is used for respiratory
machines by deep sea divers ?

a. Nitrogen + Oxygen b. Neon + Oxygen

. Helium + Oxygen d. Krypton + Oxygen

Mo # &g &g 490 4 o i @ fso ygaa g & 2

P, AFRIT + Afadom @, fam + effefias

1. BifeR™ + 3ifeeioT °, fvee + affteefras

Which is wrong about transition metals ?

a. Diamagnetic o n b. Paramagnetic

c. form comlexes d. Shows variable oxidation state
frrefafa # deav ag & 9 # B9 Teg ® ?

®. Wi gEeE T FTGEDG

T. gAY Aie A g, uliadt sifedia=or sraxen wefdia &
Which of the following oxides of chromium is amphoteric in nature ?
a. Cr,0, b. CrO, c. CrO d. CrO,
frfoRas | @ wifaw 4 9 dfearge yefit # sreliy W@ el SRfs & 2
a. Cr,0, b. CrO, c. CrQ d. CrO,

The oxidatio number of Pt in [PH{C2H4)CI3] is

a. +1 b. +2 Ci+3 d. +4

bt



[PHC2ZH4)CIZ] # Pt &1 ifairaor & 8
a. +1 b. +2 c. +3 d. +4

18. The shape of {Cu(NH,) I is square planar, The hybridization of Cu®
in this complex ton is

a. sp? b. sp¥d? c. dsp? d. dsp?

Sfee am [Cu(NH,),J* %t S = acii &, ar 9y wifcer 3Imae & Cu?
P JHHIT B '

a. sp® b. sp®d? ¢. dsp? d. dsp? h

20. Which of the following is used as anaesthetic agent ?
a. Chloroforrn  b. lodoform c. Acetylene d. Methane
forferfaa 3 fpamr SuaT fAveees & $U A BT & 7
&, TEANIBH 9 amewd . el g, ¥

21.  Which of the following compound is referigerant ?

a. COCI, b. CCI, ¢. CF, d. CF,Ci,
= § 31 dife wefas § 7
a. COCl, b. CCl, . CF, d. CF.Cl,
22. Phenol gives which of the following type of colour with neutral FeCl,
solution ?
a. Green b. Violet . ¢. Red d. Blue
fiiter S @ & am dar 7 gar @ 7
®. B Q. S 1. T, e

23. Bromoethane is heated with which of the following compound to
obtain Diethylether.
a. Ethanol b. Na in dry ether
¢. Sodium and ethanc;l d. Hydreiodic acid
STETRIA SoR BT U B B fag gHdm @ e difte A feve
T T T A g v
. (A B WA W gF R ¥ 9ifed @
7T, vHtel T WIfeTw & arl T, BEGANSS 30T B G
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25.

26.

27,

Which of the following is obtained when acetaldehyde reacts with

chlorine 7

a. Acetyl Chloride b. Chloral

¢. Dichloro acid d. None of the above

T fceEs A Aff TANE & we @R W Pl A oW g g 7
&, (ifee RS W, FER

7. SETRERE are " 99 9 BIg Ao

The formation of cyanchydrin by the reaction of CH,COCH, and
HCN is an example of

a, Electrophilic substitution reaction

b. Nucleophilic subtitution reaction

¢. Nucleophilic addition reaction

d. Electrophilic addition reaction

CH,COCH, @ HCN 1 afafrm ¥ wrgArersiy w1 g Prefaia §
ferereT SaTER £ ?

@, FATLE] AR . e o

7. AfEEE T Y, ToObEETEl A

Which of the following is used to distinguish between Formic acid
and Acetic acid 7

a.Na b. Mercuric chloride

c. 2, 4-Dinitrophenyl h'ydrazine d. Sodium ethoxide

wIfite o oo YRE o § R P A 9 frwe g foha SR E
%, AIfeum E, ARG FARES

T, 2, A—ETEAIEIBIAA BISEAH g, |ifeas wifeags

Which of the following is obtained when sodium acetate is heated

with sodalime ?

a. CH, b. C,H, c. CH,COOH  d.CH,
@%ﬂqmﬁ@@mﬁﬂ?wﬁiﬁﬁﬁﬁﬂﬁﬂﬁﬁﬁﬁﬁmé?
a. CH, b. C,H, ¢c. CH,COOH  d.CH,

)
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29.

30.

31.

32,

33.

T miE S a————,"——

Which of the following is the most basic ?

a.CHNH, b, (CH,),NH c. (CH, )N d. NH,
frafafas 94 o i g & 7
a.C,H.NH, b. (CH,),NH c. (CH).N d. NH,

Which of the foliowing is formed when ethylamine is heated with
C8, in presence of HgCI, 7

a. C,HNCS b. (C,H.).,S . (CH,),CS  d. None ofthese
gférertdm B HCl, 3 SuRefil 3 CS, & wer wf o w aorem 2

a C,H,NCS b. (C,H,),S c.{C,H),CS d.z1 & =g
Which of the following is the most sweetest sugar ?

a. Sucrose b. Fructose c. Maltose d. Lactose
fr=ferfga # $i7 weide A& www 8 ?

%, GhIg . B 1. " AL

Which of the following vitamins is fat soluble ?

a. VitaminB,, b.VitaminB, ¢ VitaminC d. Vitamin K
frrafefia & o= o # faog fderfa 2 7

RefmB, @wfe@B, wfefic @ fefk

Phenol is used in the foramation of which of the following ?

a. Bakelite b. Polystyrene  c¢. Nyion d. PVC

e 1 & froe e A wgaa s &8 7

@. THART 9. iforergdT w AEas . PVC
Which of the following is the product of condensation polymer ?

a. Polythene b. PVC c. Teflon d. Nylon B, 6
HeAT FEErHeT @7 Scare frEfoian A 8 7

&, giforef= @ PVC 7. UG o, A19eiF 6, 6
Chicromycetin is used for the treatment of which of the following
diseases 7

a. Malaria b. Typhoid ¢. Cholera d. Tuberculosis

FARmTSAfe &1 eugn BE—u 48 A fEm S 8 7

A
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35.

&, HARAT W, SURITS LRR: gkl . SERaRgARY
Which of the following can be used as a soap 7

a. C,H,COONa b. (C,H,,CO0),Ca
¢. C,H,.COOH ' d. C,;H,,COOH
Prefalad & FFa® W WgH & Y A & §6aT § 7
a, C,_H,.COONa b. (C,,H,,CO0),Ca
¢. C,H,,COOH d. C,H, COOH

b



Answer
a
d
a

29,
30. b
31
32.
33. d
34. b
35.
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Section-1l {(Non-Objective)
wig—|| {R—a===s)

There are 15 questions of short answer fype each carryig 2 marks.
Answer any ten out of 15 questions
10x2=20

7 THNT FBIR P TA 15 777 & Fred 4% 7 [ay ga 2 9@
21 g & 10 gFIF @ o fa| ]
10x2=20

1. Explain Frenkel defect in crystalline solid.
S T ¥ Here T &1 qui F |
2. Explain why vapour pressure of a solution is lower than that of a
pure solvent ?
el P @1 91w S 3E TS © -9 § 9 9l § S § 2
3. What do you mean by oxidation and reduction potentials ?
SRR Td ROl T | any @ wEe ¥ 7
4. What do you mean by Pseudounimolecular reaction ? Give an
example of it.
B T AP FfhaT ¥ Y T IHEA F | T UF SRV T
5. What are emulsions 7 Give examples.
UaE BT R 7 §HS SETER | |
6. What are the differences between calcination and Roasting ?
o ©d aeor W g R § 7
7 Discuss the reactions taking place in blast furnace during the
extraction of Iron.
e @ Frspor A e 9o # 29 aeh wRfrae @1 Seow H
8. What do you mean by Interhologens ? Give two examples,
TeRANTE ¥ Fq1 TR & 7 3 SR ||
9. What is effective atomic number (EAN) ? Explain it with a suitable

A



example,
TIGHTY GATY WRAT T & ? UH S IQIEl P AR GG |
10. What happens when

a. Ethyl Chloride is heated with alcoholic ammaonia 7
b.  Chloroform is heated with aniline and KOH 7
1 8l 8 °F
F. R TORES B YoEiey st @ W e R o 8 ?
W FEREE e @ KOH & a1 far @ g ?
11.  How would you obtain phenel from benzene ?
I 9 e fATa S e B ?
12. How does ethyl amine reacts with nitrous acid ?
TS OHF UR AISSY vl o o riifdar gl § Y
13. Name the compunds which are obtained by the complete hydrolysis
of DNA.
DNA & qu] Wie—uges ¥ qre et o1 A for |
14. Write a short note on Bakelite.
JhET W UF Wit Aie fordd |
15. What are antacids ? Name two antacids.
Yerdrs 791 & ? 77 Veris @7 AW fad |
Long Answer Type Questions
i 9ol g
Qustion nos 16 to 18 are of Long Answer Type. Each gquestion

carries 5 marks.
gruegr 16 @ 18 D ot o ® &1 40T @ By s 5w AEfRa &
16. a. What are the functions of salt bridge in electrochemical cell ?
forr A w4 § w9y &7 9 B 8 ?
ey / O,
The molar conductance of a ¥ solution of KCI at 25% is

10
129.0 ohmr'cm2meland its moalr conductance at the same temp. and

i

Yt



16.

Or,

15

Or,

18,

infinite dilution is 149.9 chm™ cm? mol'. Calculate its degree of
dissociation.

25% A TR KC| & et ¥ f3ads &1 #ier Arered 129.00hm™”
cmmol-'2 | T 91U W 59 3 [T B HeR Tiedd 14990hmem?
mol' &) 39 Reas ¥ waer & fues 3 A e |
b.  Obtain an expression for the rate constant of a first order

reaction.

wor Ff2 &) arffpa & I—feRie @ v ies urd &Y

Show that the time required for 75% completion of a first
order reaction is twice that required for 50% completion of the
reaction.

fewmy 5 goun P & fafEn @ 75 wfww @ 89 § o1 994
R & 50 wReg @ B9 ¥ o FWE T AT Bl €
How does SO, reacts with an acidified solution of (i) KMnO,
(i) K,Cr,0, ? What are your pbservations ?
SO, Frafaiad @ arveia O § R S AT el & | T A1 T
LiLE

(i) KMnO, (i) K,Cr,0,

Discuss the principle of manufacture of ammonia by Haber's
Process. How does it react with CuSO, Soi".

= AR X erifi B s @1 R fod | 18 FTR Hede W
A 5w weR afafva o 2
Write sructural formulae of the fallowing.
a. 4-Pentan-2-one
b. 2, 2-Dimethyl propanal

. Trichloro ethanal
b}

b



Or,

d.  3-Methyl pentanoic acid
e. Ethyl propancate

frfofey Dl & e ga ford)
® 4-UEE—2—di

9 2 2-sgHide WuEd

T EREARgET

H  3-419a ieAEs e

$ T MueTe

Give the IUPAC name of the following :-
ffaRas & IUPAC = ford |
3 (CH,),CH-CH,CI
ii. ?Hz - (.l‘,H - (?H2

OH OH CH

FHS
ii. CH,-Q-CH-CH,
iv. CHE_-?H-CHE-E=O
CH,
OH .

V. (IZ:H2 — (I%H Er (I';H2

COOH COOH COOH

-

e



Section-ll (Non-Objective type)

AnNswers

1.  Frankel defect:
In frenkel defect, a cation leaves it lattice site vacant and
occupies interestitial positions.

BEDT ovor
| |
oD popo
P00 T 900
B-®-6—® 6O

|deal Cystal Crystal with Frenkel defect

()  Due to this type of defect, there is no change in the density of
crystal.

(i)  With the increase in temperature, no of defects increases.
| (i) This type of defect is shown by ionic compounds in which
size of cation is much more smaker than that of anion.
| ex- AgCIl, AgBr, Agl, Zns etc.
pad ay :
ST fped WIed ¥ O UF aNgT Heast Jed @ e Jorel
I & e I & 9 S g o7 S e R 8 e #1 fbeed |
I O Y B QW FEE €
g7 375
F g6 2N D TR BISA B T SHIRIG VB T |
W, A5 g 4 <t wew § 9fg B 2
T ¥ X @ 2 i arafys dthet @ g aeii far @ g,
R T9GA FT WP FUMEE & PR A 450 Tlel T T
99 — AgCl, AgBr, Agl, Zns gT(S |
2. The vapour presuure of a volatile liquid depends upon the no.

Ao



of liquid molecules at the surface of the liquid, when a non-volatile

solute is dissolved in a liquid there is decrease in the number of sovent
molecules at the surface. There fore, there is decrease in vapour pres-
sure of the solvent. Thus, the vapour pressure of a solution containing a
non-volatile solute is less than that of pure soivent.

If P, = Vapour pressure of pure solvent

P, = Vapour pressure of a solution containing a non-
volatile solute, then
P> Py

e Hide ©1 4T TE T Hide & HAg W Oled 3 SR 3
e o ik &¥er 21 O Hiad § SEEie Yol ol @l 2 9 Uies B
wEE WS B AR ) T # F o 71 w=i drvr 9 15 faems
q9-TE g fonas & ar9 =9 9 S5 gl 8

ufy P, = g fems 1 au-—<e
P, = Qe &7 arw—<md, 79
PG} PS
3. The potential difference between metal and its ions when they

are in contact of each other is called letrode potential,
It 15 of two types
Electrodel potential

| | |

Oxidation potential Reduction potential
It is due to oxidation reaction It is due to reduction reaction
M{S) mmmmmp M™ + ne M™ + NG e M(S)
e.q. Zn{s) = Zn* + 2e e.g. Cu?+le wmmp Cu(s)
it is measure of electron it is measure of electran

losing tendency of a metal. Greater |gaining tendency of a metal ion.
the oxidation potential more will  [Greater the reduction potential,
be the tendency to get oxidised |more will be tendency to get

& hence to act as a reducing reduced and hence to act as an
agent oxidising agent.

ot
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w9 P T W A B WA F g1 & A A @ 4 B e
F 3T g Fed €1 T8 I UBR & B ¥

sﬁa@ﬁsﬁ?ﬁ
| |
s faqa GG Rk
T SifedE AT $ FRm TE aAHI A & &R
BT & BET B

M(s) === M"™ + Ne
g.g. Zn(s) =t Zn? + 2e

7 & ag 3 gaagH
@ F ygfey B AT R

Frgem SOTeT SR
fang e &, SEH Siedied 89 @l
ygfa s oA § T T8 oo A
Tefel 3aBRE BRI 21

MM+ ne = M(S)

e.g. Cur+2e==Cu(s)

Tg T o I B FW FeldeH
e F Bl ygfy B A |

=T SITeT Ay

firrg @Y1 2, THH 96 B
@ Fgfa e & @ d T%
Ja & vieel SFFEIHRE B 8 |

4. Those reactions which are not unimolecuiar but are of first order

are called Pseudounimolecular reactions.

e.g. Acid catalysed hydrolysis of an ester.
CH,COQCH, (I} +H,0 m———p CH,COCH (1) + C,H,OH (1)
Rate of reaction = K[CH,COOC H,]’

Order of reaction = 1
Molecularity of reaction = 2

Hence, it is a pseudo unimolecular reaction.
I et ot Traftes A8l & IR T B @ 8, W
AR vER vsaitae afafEad FEord B WE -
CH,COOCH, (1) + H,O == CH,COOH {l) + C,H,OH (I}
5 Emulsion : That colloidal solution in which both dispersed phase

and dispersion medium are liquid are called emulsion. Emulsions

are of two types.

Aoit



Q). Qil in water type (O/W type) - oil is dispersed in water
e.g. Milk — liquid droplets of fats are dispersed in water.
(i). Water in il type (W/O type) . Water is dispresed in oil.
e.g. Butter )
T : 98 Bletgs! (e R alRidra wravern 3w aR&qgor Aremm
1 & 59§, 9T SEeRt 21
U &1 WTR B eIl 8 —
T Od B Fd ¥ o (OMW type) : 39 O W9 § aRefta & B
S — 7Y — g ¥ awr i § TREfY ver &)
W ofd & A9 ¥ uram (WO type) : 39 9w o9 & uikeifia e 2
WE— AT
Calcination Roasting

(0. Itis a process of heating an |{i).  Itis a process of heating an
ore below its melting ;;nint inthe |ore below its melting point in the
absence of air or in limited supply|presence of air te convert

of air to convert concentrated ore |concentrated ore into metal oxide.
into metal oxide.
{i. The following changes take |(ii). The following changes take

place during calcination. place during roasting.
a. Vapours are removed a. Vapours are removed.
b. Hydrated oxides are b. Sulphur, Phosphorus
converted inte anhydrous arsenic like impurities are
oxides ’ removed as their volatile
ALO,.2H O==Al O +2H,0 oxides.
¢. Carbonates are decomp ¢. Sulphide ores are
-osed into metal oxide. converted into metal oxides
ZnCO, == ZnO+CO, 2Zns +30;=2Zn0Q + 280,

Awit



fomara=

1. T ge wfear & e
IO B TED TAUG B D

SR
4. e g8 wipar & o
71y, ¥ wafa suffy § Swe

Ty & uRerfer ar Wi aghl gavile B <R & A9 W FHHY
# pwdy T4 fEm O €, e T e o & one e
wifad o ifeags ¥ uREfid R oY & Atz e ¥ uRafia
8 W | 8 W |
2. fawgmw @ fivar # 2 wwer ® fear 7
fep=rfarfiae aRee B € Frafafag aReads 8 8|
%, ST e W | . Sierarsy e e § 1
W BESCS JFFEES, FAH @ RN, BIhINT,
staaTgs # 95 o £ | aeifer o argrfara
ALO, 2H,0==Al,0,+2H,0 I JATRAES TTHN
T, PN TH? TS fyael IR B
F gge ST £ | T, ICHES AT G B
ZnCO3 == ZnO+C02 sifgaTes ¥ 989 S 2

2Zns + 30,=2Zn0 + 280,
Following reactions take place in blast furnace during the extraction
of Iron. T
i)  Inthe bottom of the: furnace
C+0, =—— CO,
CO, is reduced to CO
€O, +C=>2C0
The temperature remains at about 1570k is which Fe,0, 1s
reduced to Molten Fe by CO.
Fe,0, + 3CO ™ 2Fe + 3CO,
Fused
(i} Inthe middie pc;rtinn of the furnace : Temperature remains at
about 1300k.

Jd



CaCQO, === Ca0 + CO,
lime stone
CaQ acts as fiux to remove gangue SiO, to remove it as slag
(CaSiO,)
Cal + Si0, =) CaSi0,
et & fsedor § ara—wed! # Frafefag affeat Sidr 2
i el © e 9§
C+0Q, = CO,
CO, sradt 8% CO 1 9917 &
CO, + C m=—b2C0O
HSE! & A T 1570k 9@ ve<H 81 Fe,0,, CO W saar B
&faa <ireT # aRuia 8 st 2
Fe,O, + 3CQ = 2Fe + 3CO,
EGG)
2. WEEl B FemqrT A ¢ gl arg @IHT 1300k WSl B |
CaCQO, = CaQ + CO,
Caﬂ?mﬂ'ﬂiﬁr?ﬂ?fﬂﬂﬂ%ﬁ&o 3rIfE B 9TgHA & w9 A g
FAT 2 |
Ca0 + Si0, == CaSiO, [grge)
8. Interhalogens
Compounds between two different halogen atoms are called
Inter halogens.
eqg. (). ABtype ICI, 1Br, CIF etc.
(il. AB,type : CIF,, ICI, etc.

9. Effective Atomic Number (EAN) :
The total no of electrons as those present in central metal ion
and those gained from the ligands are called Effective Atomic Number
of central metal ion.

hu



EAN of central metal ion
= Atomic no of central metal ion - oxidation number (O.N.}
+ 2 x Co-ordination number (C.N.)
e.g. Effective atomic number of Fe in K, [Fe(CN),] is
K,J[Fe(CN),] =b 4K+ +[Fe(CN)]*
O.N. of Fe = +2
CN. ofFe =6
E.A.N. =26-2+2x6
=24 + 36 = 36
YHITHER TAT O - Sl Aife & S ag-aRe |
SUfRrd Soggel @ HE a7 89 & T ¥ U goagil B & B
TAIHel BT TSI URATY] Gl H8d & |
BRI G IRAY BT YHEHT GLHTY[ HE
= By o7 AN & URAY] GET — SRRSO WE
+ 2 X 9FEY W&
oW K [Fe(CN)] # Fe &l WHEISR TRAY] W&AT &
K [Fe(CN) ] = 4K* +[Fe(CN)]*
HIGHI UTATI] HEH = 26 — 2 + 2 X 6 = 36
10. i When ethyl chloride is,heated with alcoholic ammonia, ethyl

amine is obtainéd.

CH,CH,Cl + H-NH,, =emp  CH_CH_NH, + HCI

ethyl chloride ethylamine

However : in this reaction 2 mixture of ethylamine, di
ethylamine, triethyl amine and tetra ethylammonium chloride

is obtained.

w9 WA FoNIsS, FF UeDEdd M & W T o B a9

Tiere W, SEviRre YA, Zefia Uhe o eoToie srifen TeiNTes g 21
CH,CH,C| + H-NH, =====b CH,CH,NH, + HCI

o TGS fer Y
A



11.

12.

13.

14.

When chioroform is heated with anitine and KOH ; Carbyl amine
is obtained which has a special type of obnoxious odour.
CHCI, + 3KOH + CHNH, ==+ CHNZC+3KCl+3H,0
Chioroform Aniline Carbyl amine

w19 FAREH B YewrEd 3 a9 KOH femm 3 SuRerfd # 9Hie=
B arer T FRE £ A wifde 3 v 2, v 1 e geR A S
e gl ® -
CHCI, + 3KOH + CH,NH, = CHNZC + 3KCI+3H,0

FARTEH WETIE] Fifde Wi
Benzene to Pheno!
H Heated with N|H2
@ +HO -NO, Cong, HNO, & @ + B[H] SHetg) @
Conc. H,30, Reduction
Benzene at 600c - H,0 Nitro benzene Aniline
N Cl @H
HNO_+ HCI dllute
oy ©+Ho o )
Benzene diazonmium Phenol
chloride

Ethyl amine reacts with nitrous eeld et 273K to form ethyl alcohal.

CH,-CH, N, + O9N - OH —mCH CH_-OH+N, + H,0

Qﬁaﬁﬁﬁﬁﬁwﬁwzmkﬁaﬁﬁmm@ﬁaﬁmmﬁl

CH,-CH,-NH, + O3N - OH —ng -CH,-OH+N, + H,0
Compounds obtained by the complete hydrolysis of DNA are D-2-
deoxyribose, phosphoric acid, adanine {A), gaunine (G}, Cytocene
{C) and thymine (T).

DNA B gof STe SggeT | BIBIRG 37, D—2—f¥afainEay,
TS (A), T (G), FERIA (C) v wredE (T) i BT &)
Bakelite : It is a condensation polymer and is formed by the
condensation of phenol and formaldehyde in the presence of
a base acting as a catalyst. It is called phenyl formaldehyde

hudt
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resin.

Bakelite is a cross-linked thermosetting polymer. Low degree
of polymerisatin gives soft bakelites. While high degree polymorisation
gives hard bakelites.

Soft bakelites are used for making glue while hard bakelites
are used in the manufacture of combs, fountain pens, electrical
goods.

Jdage : 0% TF WA gad § 9 s A, wmiteeys @
e U W B SuRfy § e W uie g 8 | 9F fRd-whicsees
W FEarr &1 5 989 ¥ Rt 909 —CH,—T9g @ e § W
T2 & B

Low degree gdi@<ur & ATw sdarge e dweze T High
degree TEAERY § UIT IHEAIT PR IHABE FEATT & |

A YBeTEe H SR TR FAN A Feld FOR JHARE
IuEnT FH), Tow TF g el § € 8|
Antacids : Under normal conditions, the somach contains a certain
amount of hydrochlaric acid. The H* ion of HCI participates in
digestion. An excess of this acid causes indigestion. The function
of an antacid is to relieve indigestion by reducing the amount of stomach
acid to a normal level by neutralization. Compounds which are used
as antacids are magnesium hydroxide, Aluminium hydroxide, sodium
bicarbonate etc.

g'am:ﬂmﬂﬁuﬁrﬁaﬂﬁﬂzﬁgﬁmﬁmmaﬁwﬁﬁﬂﬁ
arT 2B @ T B A B TEE § wed o § | 0 e g
areer € AT SRR g9 W oraad Bt 8| veriie w1 el 9T 7 suRuw
a7l B A YR a6 SSERIERY @ BRI UEEE &1 B ¢ ) e @
w7 # warT 27 gra AfE ¥ — S aegess, TgRim sRtass,
Afgas sEHErT e |

W
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(i)

(i)

b.

given

Long Answer Type Question
A Iods g
The functions of a salt bridge in an etectrochemical cell

Salt bridge completes the electrical circuit.

Salt bridge maintains electrical neutrality of two half cell
sofutions.

forege T 99 A v vg = S g &

vy faga aRuer &1 o Fwar &

T S AR e B TSR w2

w = 129.0 ohm'' cm? mol*
ue = 1498.9 ohm' cm? mol”

Degree of dissociation () = ¥ = 1298 _ 53502 = 86.02 %
e e &

Ho 1498

uv = 128.0 ohm?' cm? mol”
po = 149.9 ohm' cm? mol’

e d wmr ()= 4V =1290 _ o500 = 86.02 %

Lo T 149.8
Expression for rate constant of a ¥ order reaction.

Let us consider a first order reaction,
A =% Products
time
0 - a
1 (a-x)
a = Initial concentration of reactants in gm maol litre-1
(a - x) = Conc" after time 't' in gm mol litre -1
Rate of reaction{ -‘idt?‘- )« [A)

g ;ﬁ = KIA]'
L EzK(a-x)
Ny o (i




Integrating eq" (i), We have

= ~-loge(a-x)=Kt+l (ii}
When, | =.Constant of Integration

Evaluation of | :

Whent = 0, a-x=a

-loge® = K.O + 1
Putting the value of | in egn (ii), We have

—>-log e-¥ = Kt-loge®

= log ea - log @ ¥ = Kt

log & fx =Kt

K=1loge 2

K =238 |pg10 2
This is an expression for rate constant of a I¥! order reaction.
T FIf ¥ aMEET & a7 ferie & g wheRm
Let us consider a first order reaction,
A —p T
qxy
0 a mol litre™!
t {a - x)md litre™!
a = AR Aig mol litre-1
(a - x) ="t THT UFA AFE
gfaferar &1 9 ( %’ti} e [A)

N | g 1
.gt—K[A]
. EL=K(a-x)
- $=Kdt (i)
ﬂﬁm(n)ﬁﬂwaﬂ#m
I{ax} Kldt
- -loge(a-x}=Kt+l| (i)

FEl, | = GHrEe ReRi®

At



Evaluation of | ;
THt=0 dda-x=a
~log e* = K.O + |
; I =-log e?
HHH (i) |
-log B =Kt log e?
= log a-loge®-¥ =Kt

log, 2 =Kt
K=1  loge fr_
K-23ﬂ3 Iog1D

ﬁﬂﬁmmaﬁﬁaﬁaﬁrﬁm%fmwmmm

Or,

for a I* order reaction, the time required for 50% completion

of reaction is t

Whent-t% a-x=
- 2.303 a
= K= Iog1ﬂax

= K= 2363 log10 &

a
2

— t 1_ 3D3}£ﬂg1 55

(i}

Time reqmred for 75% completion of the reaction is t3/4

Whent=13/14 a-x= &

F. |
_2.303 -
= 1314 10910 g,
= = zt—~'§’ﬂ3 log10Q4
= K= 2B jog10”
= tya= 222 o jog102

- 2.2.303.log102
t3/4 = 3

Comparing eq" (i} and (ii), we have
I—Ltaf{: 2t

S E

—{ii)

IR W P B HfAfEar B forg so wftera s @ g o F aw

VY



wg T ar
a
Whent=1t2, a-x= 2

2.303 a
= K= Ing103 X
2.303
= K=T2 |ug10
1 2.3031
= to= K 1
R W FIE N afhar @ g 75wt afufdar S @@ w5 @
g t3 B
“ a
t=t 3/4, a-x= 4
2.303
K=t log10 a-x
2303 a
K= log10 a4
. 3Dt3;?4g1022
2.2.303 log10?
= t3/4= K 2

17,

TR w
b3 =215

(). When SO, gas is passed into acidic solution of KMNQ,, it is

reduced to potassium sulphate and Mangenese sulphate and the
violet colour of KMnO, is decolourised.
2KMnO, + 3H,80, = " K,SO, + 2MnSO, + 3H20+,51€]
580, + 5H,0 + 5{&f==——>5H,SO,

+7 +4 +2
2KMnQ, + 580, + 2H 0O g K,50 +2MnSO, + 2H,80,

In this reaction KMnO, is reduced to MnSO,ad its oxidation
number decreases from +7 to +2 and SO, is oxidised to H2504

and its oxidation number incrases form +4 to +6.

I & MRrm W @ anei fawws § S02 i yared
Fe R RN Fav7 WEF el Hete @ FHI Wb # e 8
ST 2 | 7 $TEA fAerg wie e 8

hyed



2KMRO, + 3H,80, == K SO, + 2MnS0O, + 3H,0+5(c]
580, + §H,0 + 5{0] === 5H,50,

+7 +4 +2
2KMNQ, + 5S0, + 2H,0 ====b K SO,+2MnSO, + 2H,S0,

4 fAiHaT # KMnO, s/ead 81 & Td 38%) SiTaHiNeer HeEm +7

¥ 9eHY +2 8 WK § TS SO, dfefiga g & o g6 I +4 |/
IGHR +6 B Sl & |

When 80, gas is passed into acidic solutin of K,Cr,O,; it is

reduced to chromic sulphate and its orange colour changes to green.

K,Cr,0, + 4H,50, ===b K SO, + Cr,(SO,), + H,0 + O]
380, + 3 H,0 #3{0] ==——p 3H,SO,

+§ +4 +6 +3
K,Cr,O. + 380, + H.8O, ==+ K 50, + Cr,(80,), + H,O
Potassium dichromate Chroemic suiphate

In this reaction, K,Cr,Q, is reduced and its oxtdation number de-

creases from +6 to +3 and SO, is oxidised and its oxidation number

increases from +4 to +6,

Ay 7 F oreRew Seeie ¢ R e 9 i vaikg e

R 9% B W P DT Tobe § g 8 T R | 3R w1 [wa g gk & |

K.Cr,0, + 4H,80, = K,SO, + Cr(S0,), + H,0 +.3(C]
350, + 3 H,0 +3{0] = 3H,S0,

+§ +4 . +6 +3
K,Cr,0, + 380, + H,50, — K80, +Cr,(80,),+H0

: | A B I R L ek FIHFH TBhe
g% sifafi #§ K Cr,0, sfagy 81T 8 Td 3! AaiiFv] ST +6

¥ HTHR +3 B N § ol SO, sitEea 8 Wy & T g i
W= +4 § q5aR +6 B W[ € |

bt
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Or,

{i}

(ii}

(il

(iv)

(v)

4 - Penten - 2 - one
!CI)
CHE—C-{I}HE-CH={3H2
2. 2- Dimethyl propanal
o
CH, - F - CHO
CH,
Trichloroethanal
i
Ct - lIC -C=0
Cl
3- Methylpentanoic acid
CH

-

3

A—-UE—2—a31A

z 2 — sEAfdE WU

FEERINECOE L

- HAfdre TEHEE UdS

|
CH, - CH, - CH - CH, - COOH

Ethyl propanoate
CH, - CH, - COOC,H,

(CH,},CH-CH,C!

H,-CH - CH,

OH OH OH

CH3
CH,-0-CH-CH,

CHa-?H-CH2:C=O
CH,
OH

CH, —CH — CH,

|
COOH COOH COCH

pvd

ofdre aTee

1-Chloro - 2- methyl propane

1—FARY — 2 — AP g
Propan - 1, 2, 3 - triol
wrie—1, 2—3— greeiid

2-Methoxy propane
o— fReifatr Wue

3 - Methylbutanal
3— #idre T

2-Hydroxypropan-1, 2,
3-tricarboxylic acid



